

Kansas Corporation Commission Oil & Gas Conservation Division 1061587

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 3053	5		API No. 15 - 15-055-22102-00-00
Name: Hartman Oil Co., I			Spot Description:
Address 1: 10500 E BERKELI	Y SQ PKWY S	TE 100	N2_NW_SW_SE_Sec21_Twp,_22_S. R33_
Address 2:			
City: WICHITA	State: KS Zi	67206 +	2310 Feet from 🗹 East / 🗌 West Line of Section
Contact Person: Stan Mitchell Phone: ( 620 ) 636-2090 CONTRACTOR: License # 33			Footages Calculated from Nearest Outside Section Corner:  NE NW SE SW  County: Finney
Name: H2 Drilling LLC			
			Lease Name: Well #:
Wellsite Geologist; Bruce B Ard			Field Name:
Purchaser: NCRA			Producing Formation: Morrow
Designate Type of Completion:		_	Elevation: Ground; 2897 Kelly Bushing: 2902
✓ New Well □ R   ✓ Oil □ WSW   □ Gas □ D&A   □ OG □ CM (Coal Bed Methane)   □ Cathodic □ Other (Coal Coal Coal Coal Coal Coal Coal Coal	SWD ENHR GSW	Workover SIOW SIGW Temp. Abd.	Total Depth: 4875 Plug Back Total Depth: 4831  Amount of Surface Pipe Set and Cemented at: 752 Feel  Multiple Stage Cementing Collar Used? Yes No  If yes, show depth set: 1617 Feel  If Alternate II completion, cement circulated from: 1617  feet depth to: 0 w/ 1000 sx cmt
If Workover/Re-entry: Old Well I	nfo as follows:		
Operator: Well Name: Original Comp. Date:			Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-pe	_ ~	ENHR Conv. to SWD	Chloride content: 8000 ppm Fluid volume: 8000 bbls  Dewatering method used: Evaporated
Plug Back:	Plu	g Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled			Operator Name:
Dual Completion	•		Lease Name: License #:
SWD			Quarter Sec TwpS. R
☐ ENHR			County: Permit #:
GSW 7/27/2011 8/10/2		8/18/2011	
	eached TD		

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
☑ Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II III Approved by: Dearns Carrier Date: 12/27/2011

Side Two



Sec. 21   Twp 22   S. R. 33	Operator Name: Hart	man Oil Co., Inc			Lease N	Name: _	DAMME		Well #:41	-A	
Imme tool open and closed, flowing and shut-in pressures, whether shut-in pressure reached static leved. Hydrostatic pressures, bottom hole temperature, fluid recovery, and flow rates if gas to surface lest, along with flanc chart(s). Attach extra sheet if more space is needed. Attach complete copy of all Electric Wirning to the copy of all El	Sec. 21 Twp.22	s. R. <u>33</u>									
Attached Actional Sheets)  Samples Sant to Geological Survey  Ores Taken  Electric Log Run  Electric Log Run  Electric Log Submitted Electronically  (I'm. Sub	time tool open and clos recovery, and flow rates	sed, flowing and shu s if gas to surface te	t-in pressi st, along v	ures, whether sl with final chart(s	hut-in press	sure rea	ched static level,	hydrostatic pr	essures, bottom l	hole temp	erature, fluid
Samples Sent to Geological Survey	Drill Stem Tests Taken (Attach Additional St	heets)	Y	es 🗸 No		<b>⊘</b> i	og Formatio	n (Top), Depth	and Datum		Sample
Cass   No     No	Samples Sent to Geolo	ogical Survey	<b>⊘</b> Y	es 🗌 No			_		•		
CASING RECORD   New   Used   New   Used   Report all strings set-conductors, surface, intermediate, production, etc.			✓ Young	es 🔲 No			••		, , , , , , , , , , , , , , , , , , , ,		
Purpose of String   Size Hole   Size Casing   Size Hole   Size Casing   Size (In O.D.)   Lbs. /FL   Sating   Type of Used   Type of Used   Type of Additives   Surface   12.250   8.625   24.0   752   65/35   1000   3% cc	List All E. Logs Run: Attached										
Purpose of String			Pan			_	_	les ots			
Production	Purpose of String		Siz	ze Casing	Welg	ght	Setting	Type of			
ADDITIONAL CEMENTING / SQUEEZE RECORD  Purpose:	Surface	12.250	8.625		24.0		752	65/35	1000	3% сс	
Purpose:	Production	7.875	5.50		15.50		4874	lite/com	1000	5#gil 1	/4 floseal
Purpose:	<u> </u>				_	· · · ·		<u> </u>			
Perforation		· · · · · · · · · · · · · · · · · · ·		ADDITIONAL	CEMENTI	NG / SQL	JEEZE RECORD				
Plug Back TO	1 '		Туре	of Cement	# Sacks	Used		Туре а	nd Percent Additives	\$	
Shots Per Foot PERFORATION RECORD - Bridge Plugs Sel/Type Specify Footage of Each Interval Perforated (Amount and Kind of Material Used)  3	Plug Back TD	0-751	lite/com		125	·	2% cc				
Specify Footage of Each Interval Perforated (Amount and Kind of Material Used)  3	Plug Oil Zone	-									<del> </del>
TUBING RECORD: Size: Set At: Packer At: Liner Run:  2.675	Shots Per Foot									rd	Depth
Date of First, Resumed Production, SWD or ENHR.  10/17/2011  Estimated Production Per 24 Hours  DISPOSITION OF GAS:    Vestart   Vestart	3	4696-4714							·-		
Date of First, Resumed Production, SWD or ENHR.  10/17/2011  Estimated Production Per 24 Hours  DISPOSITION OF GAS:    Vestivation   Sold   Valued on Lease   Open Hote   Perf.   Dually Comp.   Commingled   Push							ļ				
Date of First, Resumed Production, SWD or ENHR.  10/17/2011  Estimated Production Per 24 Hours  DISPOSITION OF GAS:    Vestart   Vestart					· · · -						
Date of First, Resumed Production, SWD or ENHR.  10/17/2011  Estimated Production Per 24 Hours  DISPOSITION OF GAS:    Vestivation   Sold   Valued on Lease   Open Hote   Perf.   Dually Comp.   Commingled   Push		··									
10/17/2011				<u> </u>	Packer A	t:		Yes 🗸	No		
Estimated Production Per 24 Hours  Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity 0 870  DISPOSITION OF GAS:  METHOD OF COMPLETION:  PRODUCTION INTERVAL:		Production, SWD or EN	IHR.	_		.a 🗆	Gastift □	Other (Evoluin)			
□ Vented □ Sold ☑ Used on Lease □ Open Hote ☑ Perf. □ Dually Comp. □ Commingled	Estimated Production		Bbls.	Gas		Wat	er B				•
□ Vented □ Sold ☑ Used on Lease □ Open Hote ☑ Perf. □ Dually Comp. □ Commingled											
(Submit ACO-5) (Submit ACO-4)	l _					Dually	Comp. Co	mmingled	PRODUCTI	ON INTER	VAL:

Form	ACO1 - Well Completion	
Operator	Hartman Oil Co., Inc.	
Well Name	DAMME 41-A	
Doc ID	1061587	

#### All Electric Logs Run

Spectral Density Dual Spaced Neutron Log	
Array Compensated True Resistivity Log	· · · · · · · · · · · · · · · · · · ·
Microlog	
Cement Bond Log	

Form	ACO1 - Well Completion
Operator	Hartman Oil Co., Inc.
Well Name	DAMME 41-A
Doc ID	1061587

#### Tops

Heebner	3797	-893	
Lansing	3740	-838	
Marmaton	4336	-1437	
Pawnee	4414	-1512	
Ft Scott	4443	-1541	
Cherokee	4456	-1554	
Morrow Shale	4644	-1742	
L Morrow Sand	4702	-1800	
TD	4871	-1969	



Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

Hartman Oil Co., Inc. H2 Drilling & H2 Trucking 3545 W. Jones Avenue Garden City, KS 67846

#### INVOICE

Invoice Number: 128371

Invoice Date: Aug 24, 2011

Page:

CustomerID	Well Name/# or Customer P.O.	Payment	Terms
Hart	Damme #41A 8/4/5	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-05	Oakley	Aug 24, 2011	9/23/11

Item	Description  Class A Common Chloride Handling Mileage Squeeze	Unit Price 16.25 58.20 2.25 33.55	Amount 4,875.0 291.0 686.2 2,348.5
R R R	Chloride Handling Mileage	58.20 2.25 33.55	291.0 686.2
R R	Handling Mileage	2.25 33.55	686.2
R	Mileage	33.55	
R			2 248 1
	Squeeze		2,040.
R		1,050.00	1,050.0
	Heavy Vehicle Mileage	7.00	980.0
R	Light Vehicle Mileage	4.00	560.0
MENTER	LaRene Wentz		
UIP OPER	Darren Racette		
PER ASSIST	Ruben Chaves		
	NEW WELL COMPLETION	J	
	AT Wilsher		
			COMPLETION

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2158.15

ONLY IF PAID ON OR BEFORE Sep 18, 2011

Subtotal	10,790.7
Sales Tax	384.8
Total Invoice Amount	11,175.6
Payment/Credit Applied	
TOTAL	11,175.6

ALLIED CEWENTING CO., LLC. 043397

TO P.O.B RUSS	OX 31 ELL, KAI	48AS 6760	<b>i</b> 5			ICE POINT	les for
8-24-11 PAID	SEC <sub>Z</sub> /	TWP 22	RANGE	CALLED OUT	ON LOCATION		
damme	WELL.		LOCATION 7CM	_ <del></del>	<del></del>	JOB START	POB FINISH
OLD OK NEW CIT	cle one)		1/20		2015	Finney	1.725
CONTRACTOR	BPC	ins +	416	OWNER 5		j.	
TYPR OF JOB	2046	?ee. 4		UNINEK 2	ucre_	<del>-, -</del>	
HOLUSIZE CASING SIZE	<b>574</b>	T.D.	4/2	CEMENT			
TUBING SIZE	12	DEP		_ AMOUNT OR	DERED 300	Stes down	5.4.
DRILL PIPB		DEP		_ <u> </u>	scale		
TOOL		DEP					
PRES, MAX			MUM	COMMON	300,6	- ~ ~	Work
MBAS, LING		SHO	TAIOLE	POZMIX		@ CO-42	78/3,00
CEMENT LEFT IN ( PERFS.	250,			GEL		<u> </u>	
DISPLACEMENT	2%	366	<del></del> _	CHLORIDE	55/0	0 <u>.57~28</u>	29/.00
	_	PMENT	·	_ ASC		•	
	EAnt	LUTEIAI.		<del></del>		ø	
PUMPTRUCK CI	MENTE	Lak				@	
	MUENTE. E <u>lpe</u> r	77.	<u> </u>	. ———		<b></b> _	
BULK TRUCK		7/4/	-		<del></del>	e	
1957/25/ DI	UVER	Ruce	Car (18)			<u> </u>	
BULK TRUCK						ā ———	
DI	RIVER			HANDLING_		ē	
Pressure be rate down y	ak jil	ARKS: 	130 stou	The second	SBILVIC	TOTAL	2548.50 200.25
	Pres	June 7	6 3020 4 3	Mac			
locking.	<del></del>		<u></u>	DEPTH OF 108			
-594002	e he	(d.		<ul> <li>PUMPTRUCK (</li> <li>BXTRA FOOTAI</li> </ul>			050.00
· · · · · · · · · · · · · · · · · · ·	<del></del>			MILEAGE		7.00	78000
<del></del>	1 Ho	on K	1004	MANIFOLD			70000
/	_		•	Lightuck	rate milage	4,00	560.00
HARGE TO: HA	-	Av	<u>^</u>	<del>-</del>			
· · · · · ·	7 7 1.	C/1	<del>Les.</del>				
TREET			<del></del>			TOTAL &	25/2000
ITY	STAT	B	ZJP				
				PL.	ug & ploat e	QUIPMENT	
				<del></del>			
				<del></del>			
Allied Cementing	Collid	-					
on are perepa teche	sted to re	ni cement	ina mania				
o tumish cementer	and heta	ea of falts	ekt owner or			. <del></del> -	
INTERCEOUR (O GO WORK	as is list	ed. The o	tertion assemble and			·	
vio to satistaction a	nd suces	rision of a	Mar seed				
GILBCIOL 1 DUAG LEI	d and un	dessiond si	SO WITHIRD AT			TOTAL _	
ERMS AND COND	TIONS	listed on	the reverse side	SALES TAX (IFA	ny)		
	-			TOTAL CHARGE	• • •		
INTED NAMB <u>. S</u>	w T	teho	M.				
				DISCOUNT		IF PAID I	



INVOICE

Invoice Number: 128266

Invoice Date: Aug 18, 2011

Page: 1

mvoice number

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Hartman Oil Co., Inc. H2 Drilling & H2 Trucking 3545 W. Jones Avenue Garden City, KS 67846

Customer ID	Well Name# or Customer P.O.	Payment	Terms	
Hart	Damme #41A 81415	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-09	Oakley	Aug 18, 2011	9/17/11	

Quantity	Item	Description	Unit Price An	nount
128.00	MAT	Class A Common	16.25	2,080.00
52.00	MAT	Pozmix	8.50	442.00
7.00	MAT	Gel	21.25	148.75
187.00	SER	Handling	2.25	420.75
75.00	SER	Mileage 187 sx @.11 per sk per mi	20.57	1,542.75
1.00	SER	Circulate Cement to Surface	1,050.00	1,050.00
150.00	SER	Pump Truck Mileage	7.00	1,050.00
1.00	SER	Manifold Head	200.00	200.00
150.00	SER	Light Vehicle Mileage	4.00	600.00
1.00	EQP	5.5 Rubber Plug	73.00	73.00
1.00	CEMENTER	Andrew Forslund		
1.00	EQUIP OPER	Jerry Yates		
1.00	OPER ASSIST	Earl Rebarchek		
			NEW WELL	
		8-29-11	COMPLETION	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1521.45

ONLY IF PAID ON OR BEFORE Sep 12, 2011 
 Subtotal
 7,607.25

 Sales Tax
 204.41

 Total Invoice Amount
 7,811.66

 Payment/Credit Applied
 7,811.66

# ALLIÈD CÉMENTING CO., LLC. 043477

PO. BOX 31 PRUSSELL, KANSAS 67665	325	KVICE POINT:
18-18-1/ SEC 2 TVV 22 RANGE 2	CALLED OUT ON LOCATION	
BASE OGNA WELL 4/ A LOCATION TEND	15 25 24 15	COUNTY STATU
	: n#0	Figure 1 AB
CONTRACTOR IN Plains	OWNER SAME	
TYPEOPJOB CIRCULATE COMMENT TO SCAL	FOCO	······································
HOLR SIZE T.D.	CPAIRNE	
CASING SIZE 57/2 DEPTH "	AMOUNT ORDERED ASS	555 He
TUBING SIZE DEPTH	669eb 505kg	COM
DRILL PIPE DEPTH	-	
TOOL DEPTH		
PRES. MAX MINIMUM	COMMON_128 SAS_	_0/6.25 2080.0
MEAS, LINE SHOEJOINT	POZMIX <u>\$2</u> \$45	_0 8.50 442,00
EMENT LEFT IN CSO.	OEL 75/55	021-25 148.75
PERFS. 7944' DISPLACEMENT // 80 AAA.	CHLORIDE	<b>@</b>
	ASC	
EQUIPMENT	<del></del>	
	<del></del>	_9
UMPTRUCK CEMENTER AGO (CG)		
427 SER HELPER TETY		
ULK TRUCK		
JRG DRIVER EATL	<del></del>	
ULK TRUCK	<del></del>	
DRIVER	HANDLING 1825	62,25 420,25
,	MILEAGE // JA/	
REMARKS:		TOTAL 48,24,25
nix 130 sts LAKOLA Followed by	-	TOTAL ALLES
Disticon asplace plus comen	- Fin	
No circulate	SERV	ICK
	DEPTH OF JOB 200'	
	PUMP TRUCK CHARGE	4, =4
	EXTRA FOOTAGE	<u>///2000</u>
	MILBAGB 25 ANIL-57	2 0 7:05 ACCOUNT
	MANIFOLD Amo	_0
····	Lightwhale	
		94.00 (M)
HARGETO: Hartman or'L	GALZESIECE	_9 <i>4:00_400:00</i>
REGT _	- GALZESIEGE	_9 <i>4.20_400.00</i>
	- Gar zesiece	
ITYSTATEZIP		TOTAL & \$200.00
ITYSTATEZIP		TOTAL & SOLO &
TTYSTATEZIP	PLUG & FLOA	TOTAL & SOLO CE
ITYSTATEZIP		TOTAL <u>2500, 00</u>
	PLUG & FLOA	TOTAL &\$200.00
o Allied Cementing Co., LLC.	PLUG & FLOA	TOTAL & \$200.00
o Allied Cementing Co., LLC.	PLUG & FLOA	TOTAL & \$200.00  TOTAL & \$200.00  TEQUIPMENT
o Allied Cementing Co., LLC.  ou are hereby requested to rent cementing equipment ad furnish cementer and beheer(a) to assist myorr or	PLUG & FLOA	TOTAL &\$200.00
o Allied Cementing Co., LLC.  but are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or  satractor to do work as is listed. The above work was	PLUG & FLOA	TOTAL &\$222. &
o Allied Cementing Co., LLC.  but are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or intractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or	PLUG & FLOA	TOTAL & 222 & C
o Allied Cementing Co., LLC.  ou are hereby requested to rent cementing equipment ad furnish cementer and helper(s) to assist owner or antractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or intractor. I have read and understand the "GENERAL.	FLUG & FLOA  S/2  L Rubber plag	TOTAL &\$222. &
o Allied Cementing Co., LLC.  but are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or intractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or	PLUG & FLOA	TOTAL &SOC. DE
o Allied Cementing Co., LLC.  ou are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or outractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or instructor. I have read and understand the "GENERAL ERMS AND CONDITIONS" fisted on the reverse side.	FLUG & FLOA  I Rebber plas  SALES TAX (II Any)	TOTAL 22-03
o Allied Cementing Co., LLC.  ou are hereby requested to rent cementing equipment ad furnish cementer and helper(s) to assist owner or antractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or intractor. I have read and understand the "GENERAL.	FLUG & FLOA    Rebbet plac    SALES TAX (If Any)  TOTAL CHARGES	TOTAL 22-03



INVOICE

Invoice Number: 128228

Invoice Date: Aug 10, 2011

Page:

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Hartman Oil Co., Inc. H2 Drilling & H2 Trucking 3545 W. Jones Avenue Garden City, KS 67846

CustomerID	Well Name# or Customer P.O.	Payment	Terms
Hart	Damme #41A	Net 30	A CONTRACTOR OF THE PARTY OF TH
Job Location	Camp Location	Service Date	Section 1997
KS1-02		Service Date	Due Date
KS1-02	Oakley	Aug 10, 2011	9/9/11

VIIII

Quantity	Item	Des	scription	Unit Price	Amount
270.00	MAT	Class A Common		16.25	4,387.50
3.00	MAT	Gel		21.25	
975.00	MAT	Class A Light Weight		14.50	63.75
4,875.00	MAT	Gilsonite		0.89	14,137.50
244.00	MAT	Flo Seal		2.70	4,338.75
16.00	MAT	Salt		23.95	658.80
1,371.00	SER	Handling		2.25	383.20
75.00	SER	Mileage		150.81	3,084.75
1.00	SER	Stage 2 Production		2,405.00	11,310.75
150.00	SER	Heavy Vehicle Mileage		7.00	2,405.00
1.00	SER	Manifold Head Rental		200.00	1,050.00
150.00	SER	Light Vehicle Mileage		4.00	200.00
1.00	EQP	5 1/2 AFU Float Shoe		349.00	600.00
1.00	EQP	5 1/2 Latch Down Plug		277.00	349.00 277.00
2.00	EQP	5 1/2 Baskets		337.00	674.00
1.00	EQP	5 1/2 DV Tool		3,721.00	3,721.00
10.00	EQP	5 1/2 Centralizers		49.00	490.00
1.00	CEMENTER	Andrew Forslund		TO THE RESIDENCE OF THE PARTY O	490.00
1.00	EQUIP OPER	Jerry Yates	NEW WE	11	
1.00	OPER ASSIST	Earl Rebarchek			
1.00	OPER ASSIST	Kevin Weighous	COMPLET	ION	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1172% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

ONLY IF PAID ON OR BEFORE Sep 4, 2011 Subtotal Continued
Sales Tax Continued
Total Invoice Amount Continued
Payment/Credit Applied
TOTAL Continued

AT Wilehar 8-22-11



Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

Hartman Oil Co., Inc. H2 Drilling & H2 Trucking 3545 W. Jones Avenue Garden City, KS 67846

### INVOICE

Invoice Number: 128228

Invoice Date: Aug 10, 2011

Page:

2

CustomerID	Well Name# or Customer P.O.	Payment	Terms
Hart	Damme #41A	Net 30 Days	
Job Location	Gamp Location	Service Date	Due Date
KS1-02	Oakley	Aug 10, 2011	9/9/11

Quantity	1tem	Description	Unit Price	Amount
1.00	OPER ASSIST	Lenny Baeza		A STATE OF S
	Helia Carrie			
	Parameter 9			
	TOTAL BEAL			
	THE CONTRACT		The second second	
	1576-61,000			
	1000		Marie Control of the	
	The House			
	HIST COLD	[사용기 및 자동시기 기계 : [시간 기계 ] [ 1		
	No.	MATTER WATER TO SEE THE SEE THE		
	1000000			
	- LYSERE		AUG. THE STATE OF	
	of the second			
			ALC: NEW YORK	
	100		Carlotte Company	
	THE REST		STORY OF STREET	
	SALVE BOOK			
	The second second			
	100			
		Subtotal		48,131
ALL PRICES	ARE NET, PAYA	ABLE		0.400

30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 9624.20

ONLY IF PAID ON OR BEFORE Sep 4, 2011

2,196.30 Sales Tax Total Invoice Amount 50,327.30 Payment/Credit Applied TOTAL 50,327.30

# ALLIED CEMENTING CO., LLC. 043475

O P.O. B		NSAS 6760	55			SER	VICE POINT:	rev
KU33	ELL, KA	113/13 0700	,5				8-11-11	
DATE 8-10-11	SEC.	TWP 22	RANGE		CALLED OUT	ON LOCATION	JOB START	JOB FINISH
Danin e	WELL#	4/1		Tonn	3 25 3	122 10	COUNTY	STATE
OLD OR NEW (Cir	-		11		into	W 1-3	1 miles	
OLD ON NEW (CI	cie one)		1/2 W	IV	1000		-	
CONTRACTOR	H20	rillin	9 Rig 2		OWNER	same		Language L
TYPE OF JOB	proc	Justio		Tag		011		
HOLE SIZE 2	18	T.D			CEMENT	Bottom RDERED 300	chelito	A Vene to
AT TABLE A TOTAL PROPERTY OF THE PARTY OF TH	1/2		PTH 4824	Marie I	AMOUNTO	eal 120 st	303 4116	2 6 113000116
TUBING SIZE DRILL PIPE			PTH /	70	Plaschel	te st Gilson	to Kuffen-se	L
	VTOC		PTH K-500	04	100545	com		
PRES. MAX		MIN	MIMIL	A CHIEF	COMMON :	270 SKS	@K6,25	4387,50
MEAS. LINE		SHO	DE JOINT 18,	32'	POZMIX _	COME OF A DES	@	STALL DECEMBER
CEMENT LEFT IN	CSG.	18132			GEI.	3 545	@21,25	63.25
PERFS.		poto	m To	OP		MARKET THE THE	@	THE PERSON NAMED IN
DISPLACEMENT	1/5/50	392	mud 35	7,27	ASC	TE MARONY 1	@	The state of the s
	EQU	JIPMENT			1:10 O	~ : Les	@	14137,50
					Lite 9	B 383	@/420	1413730
PUMP TRUCK,	CEMENT	ER A	ndrew.		Gilsoni	te 4825#	@ <b>* &amp; Ø</b>	4338,25
#423-28/	HELPER	J	erry	1000	6-1130n1	10 4825	@	1-0011-
BULK TRUCK			Mary That Share		Flo-sa	c 244H	@2120	658180
# 323	DRIVER	€ 9	11		Sq/4		@23,25	383,20
BULK TRUCK		1.0					@	
	DRIVER		vin		HANDLING	1371 5/5		3084,25
457		Le	1		MILEAGE	10 SK/mil		1/3/0.75
	RE	MARKS:			1.		TOTAL	38365,00
Casing was	sh po	nt 14	nd Lines C	1700	nx ox	SERV	ICE	- THE SE
land aug, t	Don O	N TOOK	5000 my	Com			Make bearing	2///
clean star				.5		CK CHARGE		2405,00
circulation	2000	1:57 1	(m)	plu	EXTRA FOO	Smiles X 2	@ 2,00	1050,00
Tool clas-	200	411 16	auce, ~		MANIFOLD		@ 2700	200,00
Here's Line and		-	hank y	nie	Light V	ehicle	@ 4,00	
		/	44.14	04	0		@	10978
CHARGE TO: He	rtine	noil						
		0,0		16.27	And I have I		TOTAL	4255,00
STREET								
CITY	S'	TATE	ZIP		c/2	PLUG & FLOA	AT EQUIPME	NT
					1 AGU E	cat shoe	. @	349,00
					Thath do	on plus As		257,00
T. A.W. J.C.	C-	LIC		. 6	2 Boske	15	@337,0	0674.00
To Allied Cemen			menting equipm	nont	10V 70	06	@	3721.00
You are hereby re and furnish ceme					10 centra	Lizers	@49,00	490,00
contractor to do								
done to satisfacti							TOTAL	5511,00
contractor. I have								
TERMS AND CO					SALES TAX	(If Any)		
I DIGHO MAD CO		JIIO HISTO	- Director of the control of the con	0100	TOTAL CH	ARGES		
	6-1	inst	Carro					
PRINTED NAME			Curtili		DISCOUNT		IF PA	ID IN 30 DAYS
	1-1	1	7					
SIGNATURE	Sleve	in Co	ou	btill				
BOZIE W LEV	1	RIPY.	4	MANA				



Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Hartman Oil Co., Inc. H2 Drilling & H2 Trucking 3545 W. Jones Avenue Garden City, KS 67846

#### INVOICE

Invoice Number: 128131 Invoice Date: Aug 1, 2011

Page:

Customer ID	Well Name# or Customer P.O.		
Hart	Damme #41A 81415	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Aug 1, 2011	8/31/11

Quantity	Item	Description	Unit Price	Amount
200.00	MAT	Class A Common	16.25	3,250.00
376.00	MAT	Sodium Metasilicate	3.00	1,128.00
150.00	MAT	Flo Seal	2.70	405.00
214.00	SER	Handling	2.25	481.50
70.00	SER	Mileage	23.54	1,647.80
1.00	SER	Plug	1,050.00	1,050.00
70.00	SER	Heavy Vehicle Mileage	7.00	490.00
1.00	SER	Manifold Head Rental	200.00	200.00
70.00	SER	Light Vehicle Mileage	4.00	280.00
1.00	CEMENTER	Alan Ryan		
1.00	CEMENTER	Terry Heinrich		
1.00	EQUIP OPER	Wayne McGhghy		
1.00	OPER ASSIST	Chris Helpingstine		
		N	EW WELL	
		CO	MPLETION	
	AT Wil	the		
	8-	5-11		
		Subtotal		8.932.3

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1786.46

ONLY IF PAID ON OR BEFORE Aug 26, 2011

#### ALLIED CEMENTING CO., LLC. 040000 P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT: TWP. CALLED OUT ON LOCATION JOB FINISH W 70 Anderson TS IN Wants WELL# 4/A Enney OLD OR NEW (Circle one) CONTRACTOR H2 OWNER Sans TYPE OF JOB LOT Gralation Plug Bank HOLE SIZE 7 18 T.D. CEMENT CASING SIZE 878 DEPTH AMOUNT ORDERED 200 5th Com 2-70 solium Metasilicate TUBING SIZE DRILL PIPE 4/12 DEPTH 16 Fla DEPTH 1609 DEPTH PRES. MAX MINIMUM COMMON 200 5Kg @ 16.25 3250 00 MEAS, LINE SHOE JOINT POZMIX CEMENT LEFT IN CSG. GEL PERFS. CHLORIDE DISPLACEMENT 5BBL ASC. EQUIPMENT Sedium metasilicate 37616@ 3 00 1128 PUMPTRUCK # 429 BULK TRUCK # 404 CEMENTER Afew - Terry Fro Soul 150 16 HELPER Way BULK TRUCK @2 25 48/50 1647 80 DRIVER HANDLING 214 SKS MILBAGE/195K/mile TOTAL 4/23 00 REMARKS: Rup 20 BBL HS My 2005Ks 200 Mitro Backs 3/4 16 Hoseal SERVICE Displace W/ 5 Ble the DEPTH OF JOB PUMPTRUCK CHARGE EXTRA FOOTAGE MILEAGE ZEX @ 280 MANIFOLD CHILD 2 CHARGE TO: Hast man Di TOTAL 2980 00 STREET. STATE\_ PLUG & FLOAT EQUIPMENT To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was TOTAL done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any) TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES PRINTED NAME S.T. WITCHELL DISCOUNT\_ IF PAID IN 30 DAYS

SIGNATURE A.T.



Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

Hartman Oil Co., Inc. H2 Drilling & H2 Trucking 3545 W. Jones Avenue Garden City, KS 67846

#### INVOICE

Invoice Number: 128048

Invoice Date: Jul 29, 2011

Page:

Customer ID	Well Name# or Customer P.O.	Payment	Terms
Hart	Damme #41A 81H5	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Jul 29, 2011	8/28/11

Quantity	Item	Description	Unit Price	Amount
650.00	MAT	Class A Common	16.25	10,562.50
39.00	MAT	Chloride	58.20	2,269.8
650.00	MAT	Class A Light Weight	15.00	9,750.00
862.00	MAT	Flo Seal	2.70	2,327.40
1,719.00	SER	Handling	2.25	3,867.79
75.00	SER	Mileage	189.09	14,181.75
1.00	SER	Long Surface	1,925.00	1,925.00
150.00	SER	Heavy Vehicle Mileage	7.00	1,050.00
150.00	SER	Light Vehicle Mileage	4.00	600.00
35.00	SER	Wait Time	300.00	10,500.00
3.00	EQP	8 5/8 Baskets	478.00	1,434.0
5.00	EQP	8 5/8 Centralizers	49.00	245.00
1.00	EQP	8 5/8 Top Rubber Plug	112.00	112.00
1.00	CEMENTER	LaRene Wentz		
1.00	EQUIP OPER	Darren Racette		
1.00	OPER ASSIST	Ethan Glassman		
1.00	OPER ASSIST	Earl Rebarchek		
		NEW WELL		
		COMPLETION		
	ADE NET DAVA	Subtotal		58.825.2

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 11,745.04

ONLY IF PAID ON OR BEFORE Aug 23, 2011

58,825.20 Sales Tax 3,045.74 Total Invoice Amount 61,870.94 Payment/Credit Applied TOTAL 61,870.94

8-8-11

# - ALLIEU CEMENTING CD., LLC. 043375

REMIT TO P.O. BO RUSSE	OX 31 ELL, KANSAS	67665		SER	VICE POINT:	6.6	
					9:00a	9:30am	
7-29-11 to	SEC. 21 TWP	2 RANGE 33	CALLED OUT	ON LOCATION	12:00 am		
LEASE	WELL# 4/1-	1 LOCATION FERM	is Elevator à	25 to Barlon	COUNTY FIGURE	STATE	
OLD OR NEW Cir		20,15,1	1.0		1	1000	
Admin Proposition				500			
CONTRACTOR	H2 #2		OWNER ~	Saure			
TYPE OF JOB	2 V- C	1/1891	CEMENT				
HOLE SIZE 12/5 T.D. 1609  CASING SIZE 3/9 DEPTH 752/			AMOUNT ORDERED 650 SKS 635 3 % CC				
CASING SIZE DEPTH 73 A TUBING SIZE DEPTH			- 1900NIO	690=1 /4 # fla-stel 1505 KS			
DRILL PIPE DEPTH				Com 3 % CC, 8000 Con 28,00			
TOOL DEPTH				24 A + 16-5 Cal			
PRES. MAX MINIMUM			COMMON 250 Sts @ 16.25 10562.50				
MEAS, LINE SHOE JOINT			POZMIX _		@	didni ili Cina yet	
CEMENT LEFT IN	CSG.	50'	_ GEL _	30-	@		
PERFS. DISPLACEMENT	45 6	41	_ CHLORIDE ASC	- 4600	2 @ 20 m/c	22628	
DISPLACEMENT			Allesda	38 6/0ga/65	350 15 AC	9750.80	
	EQUIPME	NI		0	(0)		
	6	akous	- Flo-sea	1 862	40 270	232240	
1111	CEMENTER	2	- 4 19 70 400	HIGH TOOK HIS	@		
BULK TRUCK	HELPER /	arren			@	He la library	
#399/287	DRIVER E	Han			@		
BULK TRUCK	ALL VERY	>	,				
#456/2391	DRIVER -	(Libera	A HANDLING	171954	- @ - 2 JS	3862,25	
396/306.	The second secon	10 5 00	MIL FAGE	1185K/11	4	14181.73	
0,010	REMARK	S: Lecar	Zon	Total Control		42959.20	
Mir 755kg	6/29 hud	displacarolla	afar		TOTAL	The state of	
ceast + 4 45	Ltagni	ug. Mix 375	6,(752)	SERV	ICE		
		dispace wither			The same beg		
Can ent dio	Pat orice	late	DEPTH OF	JOB	160'	100000	
		in open hole, d			THE PHENDRIPP ONLY	1925.00	
101 1711. N	1 ix 5003	to com 2000	EXTRA FOO		@	120000	
Cens ent				75 X2	@ 7.00	105000	
Table tree or (1)	THE	an le you	- MANIFOLD	chicle wiles	- Q 400	60000	
A sales of	, /		180 t-7	une 35 Ki	3 @ 3000		
CHARGE TO:	tactus	uDil		214	Property and a support		
CHARGE TO: 1	Ur jaca	1			TOTAL	14075,00	
STREET	0. 5.1	ALTERNATION CONTRACTOR			1011.		
CITY	STATE_	ZIP					
				PLUG & FLOAT EQUIPMENT			
						STITY DESIRED.	
			(3) Bask	ets.	@	- 1/2//	
			(5) (cut	vallzens	20 478	2/1500	
To Allied Cement	The state of the s		(I) Tas.		@ 3/,2	11200	
You are hereby requested to rent cementing equipment			11190	wer play	@	- raju	
		(s) to assist owner or	THE RESERVE OF THE PARTY OF THE	ANTONIOS POR			
		. The above work was			TOTAL	1796 x	
done to satisfaction and supervision of owner agent or					TOTAL	1110	
contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.				(If Any)	A A SERVICE		
TERNIS AND CO	NDITIONS I	isted on the reverse side					
			TOTAL CHA	AROES			
PRINTED NAME_	2.1. W.	runell	DISCOUNT		IF PA	ID IN 30 DAYS	
SIGNATURE A	T. Weleta	7					
			AND THE RESERVE AND ADDRESS OF				